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Use the AA Similarity Postulate.

Vocabulary
Angle-Angle (AA) Similarity Postulate

If two angles of one triangle are congruent to two angles of another
triangle, then the two triangles are similar.

Use the AA Similarity Postulate

Determine whether the triangles are similar. 5[] A
If the are, write a similarity statement.
Explain your reasoning.

C
Solution

Because they are both right angles, £ B and £ E are congruent.

By the Triangle Sum Theorem, 38° + 90° + mZ A = 180°, so m£ A = 52°.
Therefore, £ A and £ D are congruent.

So, AABC ~ ADEF by the AA Similarity Postulate.

Show that triangles are similar

Show that the two triangles are similar.

a. ATUV and AHJK b. ALMN and APON
7 L > M
UV v W
W
J K W
Solution

a. Because each triangle is isosceles with a vertex angle of 115°, you can
determine that each base angle is 32.5°.

So, ATUV ~ AHJK by the AA Similarity Postulate.

b. The diagram shows that LM || PQ, so £ L = / P by the Corresponding Angles
Postulate. By the Reflexive Property, ZN = £N.

So, ALMN ~ APQN by the AA Similarity Postulate.
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EXAMPLE 3

Exercises for Examples 1 and 2

Determine whether the triangles are similar. If they are, write a
similarity statement.
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Use indirect measurement

Shadows A building casts a shadow that is 78 feet long. At the same time, a nearby sign
post that is 5 feet tall casts a shadow that is 39 inches long. How tall is the building?

Solution

The building and the sign post form sides
of two right angles with the ground, as —|_ o000
shown in the diagram. The sun’s rays hit xft 33380
the building and the sign post at the same angle. l Dﬁﬂ ﬁ 4

You have two pairs of congruent angles, so the
F78 ft4 &
5ft |\
I =N

triangles are similar by the AA Similarity
Postulate. Write 39 inches as 3.25 feet so that

all the dimensions are in feet. Then you can Not oy |_U/39 in.
. . xft 78t
write the proportion Sh 3257 O find that

x = 120. So, the building is 120 feet tall.

Exercises for Example 3

5. In Example 3, suppose a different building casts a shadow that is
52 feet long. How tall is the building?

6. You and your friend are standing next to one another outside. Your
shadow is 23 inches long and your friend’s shadow is 24 inches
long. You are 5 feet 5 inches tall. How tall is your friend?
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